	BPCL proposes to appoint Retail Outlet dealers in UTTA	RAKHAND STATE, as per f		ce for appointme	nt of Regular / Rural Retail C		erships							
SI. No	Name of location	Revenue District	Type of RO	Estimated monthly Sales Potential #	Category	Type of Site*	Minimum Di of the site (ir		1.)/Area	Finance to be arra applicant	anged by the	Mode of Selection	Fixed Fee / Minimum Bid amount (Rs. IN Lakhs)	Security Deposit (Rs. In Lakhs)
1	2	3	4	5	6	7		8		9a	9b	10	11	12
			Regular / Rural	MS+HSD in KIs	SC, SC CC-1, SC PH ST, ST CC-1, ST PH OBC, OBC CC-1, OBC PH OPEN, OPEN CC-1, OPEN CC-2, OPEN-PH	CC / DC / CFS	Frontage	Depth	Area	Estimated working capital requirement for operation of RO	Estimated fund required for development of infrastructure at RO	Draw of Lots / Bidding		
1	VILLAGE PREMPUR LOSANI,TEHSIL HALDWANI ON PREMPUR LOSANI - GAS GODAM ROAD	NAINITAL	RURAL	60	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
2	VILLAGE GAINDI KHATA ON LALDHANG ROAD	HARIDWAR	RURAL	48	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
3	INBETWEEN KM STONE 85 TO 88 ON CHAKRATA- MUSOORIE ROAD (NH-707A)	DEHRADUN	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
4	IN BETWEEN KM STONE 82 TO 85 ON NH 734(RHS, JASPUR AFZALGARH ROAD)	UDHAM SINGH NAGAR	REGULAR	200	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
5	IN BETWEEN KM STONE 147 TO 150 ON NH 74(NEW NH 734)(RHS,KASHIPUR JASPUR ROAD)	UDHAM SINGH NAGAR	REGULAR	165	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
6	IN BETWEEN KM STONE 98 TO 103 ON SH 41(HALDWANI TO SITARGANJ ROAD)	UDHAM SINGH NAGAR	REGULAR	100	SC	CFS	35	35	1225	0	0	Draw of Lots	0	3
7	BETWEEN KM STONE 329 AND 335, ON NH 58, FROM SRINAGAR TO RISHIKESH	PAURI GARHWAL	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
8	IN BETWEEN KM STONE 68 TO 72 ON NH 309 A(GANGOLIHAT BERINAG ROAD)	PITHORAGARH	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
9	VILLAGE MOHANKHAL, TEHSIL POKHARI, ON RUDRAPRAYAG-POKHARI MARG	CHAMOLI	RURAL	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
10	VILLAGE DOBATA, TEHSIL BARKOT	UTTARKASHI	RURAL	40	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
11	VILLAGE DOFAR,TEHSIL DUG NAKURI ON BAGESHWAR DOFAR DHARAMGARH ROAD	BAGESHWAR	RURAL	35	SC	CFS	20	20	400	0	0	Draw of Lots	0	2
12	VILLAGE UNCHA GAON ON BANNAKHERA ROAD,BAZPUR	UDHAM SINGH NAGAR	RURAL	80	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
13	VILLAGE BARASI GRANT ON THANO ROAD	DEHRADUN	RURAL	45	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
14	VILLAGE- HARIPURA , BAZPUR	UDHAM SINGH NAGAR	RURAL	45	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
15	VILLAGE-BHAWA NAGLA , TEHSIL BAZPUR	UDHAM SINGH NAGAR	RURAL	150	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
16	VILAGE BAHADRABAD, ON HARIDWAR- KALIYAR- DHANORI ROAD	HARIDWAR	RURAL	80	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
17	VILLAGE BHARPUR,EAST HOPE TOWN ON SHIMLA BYEPASS ROAD	DEHRADUN	RURAL	100	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
18	VILLAGE GOLA-RANGE, TEHSIL LALKUAN	NAINITAL	RURAL	60	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
19	VILLAGE CHAKTONWALA,TEHSIL SADAR,ON LOWER MIYANWALA-RAIPUR LINK ROAD	DEHRADUN	RURAL	45	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
20	VILLAGE LOHARIASAL SALMALLA, TEHSIL HALDWANI	NAINITAL	RURAL	45	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
21	VILLAGE-AMAUN , TEHSIL KHATIMA	UDHAM SINGH NAGAR	RURAL	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3

Format for Advertisement in Website

	VILLAGE GOLI MAHAR, TEHSIL LAMGARA, ON ALMORA-								П		1			
22	LAMGARA ROAD	ALMORA	RURAL	40	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
23	VILLAGE-SARA SARIYA , TEHSIL KHATIMA	UDHAM SINGH NAGAR	RURAL	70	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
24	VILLAGE IKKAR ON BADARPUR ROAD	HARIDWAR	RURAL	35	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
25	VILLAGE MAZAHIDPUR SATIWALA KHALSA ON DHANAURI-BUGGAWALA ROAD	HARIDWAR	RURAL	26	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
26	VILLAGE SHEETLA, TEHSIL NAINITAL	NAINITAL	RURAL	65	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
27	VILLAGE SHERPUR, TEHSIL ROORKEE	HARIDWAR	RURAL	40	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
28	VILLAGE-JASPUR KHURD , TEHSIL-KASHIPUR	UDHAM SINGH NAGAR	RURAL	70	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
29	VILLAGE IQBALPUR KAMELPUR ON SALEMPUR RAJPUTAN-IQBALPUR ROAD	HARIDWAR	RURAL	35	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
30	VILLAGE GHIROLI, TEHSIL BAGESHWAR, ON RIMA DHARAMGARH MOTORMARG	BAGESHWAR	RURAL	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
31	VILLAGE BAMORI MALLI, TEHSIL HALDWANI	NAINITAL	RURAL	45	OPEN CC 2	DC	35	35	1225	12	30	Draw of Lots	5	4
32	VILLAGE KANDE-KANYAL,TEHSIL KANDA ON KANDA- RAWATSERA-BANS PATAN ROAD	BAGESHWAR	RURAL	40	OBC CC 1	DC	20	20	400	12	30	Draw of Lots	5	3
33	VILLAGE-KHARAKPUR DEVIPURA ,KASHIPUR	UDHAM SINGH NAGAR	RURAL	51	SC CC 1	CFS	35	35	1225	0	0	Draw of Lots	0	2
34	VILLAGE-KANAURI , TEHSIL-BAZPUR	UDHAM SINGH NAGAR	RURAL	45	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
35	VILLAGE BHOPAL PANI GRANT ON THANO ROAD	DEHRADUN	RURAL	40	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
36	VILLAGE TEJJUPUR ON FAKREDA-SHERPUR-SHAHPUR ROAD	HARIDWAR	RURAL	50	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
37	VILLAGE BUGGAWALA ON ROSHANABAD- BUGGAWALA-BIHARIGARH ROAD	HARIDWAR	RURAL	60	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
38	VILLAGE FATEHULLAPUR URF TELPURA ON ROSHNABAD-BUGGAWALA-BIHARIGARG ROAD	HARIDWAR	RURAL	40	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
39	VILLAGE RAWALI MAHDOOD ON SIDCUL BYPASS ROAD	HARIDWAR	RURAL	320	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
40	VILLAGE-JOLLY GRANT	DEHRADUN	RURAL	75	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
41	VILLAGE-DOPAHARIA ON KICHHA DARAU ROAD	UDHAM SINGH NAGAR	RURAL	65	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
42	VILLAGE-BIDAURA,NANKMATTA	UDHAM SINGH NAGAR	RURAL	60	ST	CFS	35	35	1225	0	0	Draw of Lots	0	2
43	VILLAGE NAUBATPUR MULEWALA ON ASAFNAGAR- IQBALPURA ROAD	HARIDWAR	RURAL	27	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
44	VILLAGE LOHARIASAL TALLA, TEHSIL HALDWANI	NAINITAL	RURAL	70	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
45	VILLAGE DEVAL, TEHSIL THARALI ,ON DEVAL THARALI ROAD	CHAMOLI	RURAL	110	OPEN CC 1	DC	20	20	400	12	30	Draw of Lots	5	4
46	VILLAGE PAIGA, TEHSIL-KASHIPUR ON ALIGANJ ROAD	UDHAM SINGH NAGAR	RURAL	80	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
47	VILLAGE DUNGARI, TEHSIL SULT	ALMORA	RURAL	35	OBC	DC	20	20	400	12	30	Draw of Lots	5	3
48	VILLAGE KHALI MAHUWAT ON KHATIMA MELAGHAT ROAD	UDHAM SINGH NAGAR	RURAL	60	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
49	VILLAGE-MAHUAKHEDAGANJ , TEHSIL-KASHIPUR	UDHAM SINGH NAGAR	RURAL	75	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
50	VILLAGE-CHHINAKI ON KICHHA DARAU ROAD	UDHAM SINGH NAGAR	RURAL	60	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
51	VILLAGE KUDI ON LAKSAR-BALAWALI ROAD	HARIDWAR	RURAL	52	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
52	VILLAGE-DABHAURAMUSTAHKAM , TEHSIL-KASHIPUR	UDHAM SINGH NAGAR	RURAL	50	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
53	VILLAGE-FULSUNGI ON GANGAPUR ROAD	UDHAM SINGH NAGAR	RURAL	80	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
54	VILLAGE PONDHA(NANDA KI CHOWKI TO UNIVERSITY OF PETROLEUM AND ENERGY STUDIES,UPES)	DEHRADUN	RURAL	93	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
55	VILLAGE-KHAMIYA NO1 , KICHHA	UDHAM SINGH NAGAR	RURAL	90	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
56	VILLAGE-BARAKHERA , TEHSIL GADARPUR	UDHAM SINGH NAGAR	RURAL	50	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4

57	VILLAGE-GANGAPUR GOSAIN, TEHSIL-KASHIPUR	UDHAM SINGH NAGAR	RURAL	75	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
58	VILLAGE JAIPUR BISA, TEHSIL LALKUAN	NAINITAL	RURAL	40	OBC PH	DC	35	35	1225	12	30	Draw of Lots	5	3
59	VILLAGE HIMMATPUR TALLA, TEHSIL HALDWANI	NAINITAL	RURAL	45	SC PH	CFS	35	35	1225	0	0	Draw of Lots	0	2
60	VILLAGE LAMBGAON, TEHSIL PRATAP NAGAR	TEHRI GARHWAL	RURAL	60	OPEN	DC	20	20	400	12	30	Draw of Lots	5	4
61	VILLAGE-SHIMLA PISTAUR ON MALSA ROAD	UDHAM SINGH NAGAR	RURAL	60	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
62	VILLAGE SALEMPUR RAJPUTAN ON SALEMPUR RAJPUTAN-IQBALPURA ROAD	HARIDWAR	RURAL	45	OBC	DC	35	35	1225	12	30	Draw of Lots	5	3
63	VILLAGE-MALPURI ON JASPUR PATRAMPUR ROAD	UDHAM SINGH NAGAR	RURAL	60	OPEN	DC	35	35	1225	12	30	Draw of Lots	5	4
64	VILLAGE SHIVLALPUR PANDEY, TEHSIL RAMNAGAR	NAINITAL	RURAL	50	SC	CFS	35	35	1225	0	0	Draw of Lots	0	2
65	IN BETWEEN KICHHA TOLL PLAZA AND ADITYA CHOWK ON NH 74(NEW NH 09)(RUDRAPUR TO KICHHA ROAD)	UDHAM SINGH NAGAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
66	GHANSALI TO VILLAGE KOTI ON SH-15 (GHANSALI- TILWADA ROAD)	TEHRI GARHWAL	REGULAR	100	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
67	ROORKEE CITY(RAMPUR MAIN BAZAR ROAD,RAMPUR TO BT GANJ BRIDGE)	HARIDWAR	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
68	HARIDWAR CITY(CHANDERSHEKHAR CHOWK TO JAWALAPUR)	HARIDWAR	REGULAR	120	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
69	HALDWANI CITY(BETWEEN SHIVALIK INTERNATIONAL SCHOOL AND RTO OFFICE,RTO ROAD)	NAINITAL	REGULAR	110	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
70	UTTARKASHI TO BHATWARI ON NH-34 (UTTARKASHI- GANGOTRI ROAD)	UTTARKASHI	REGULAR	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
71	VILLAGE PAINI TO GARUR GANGA TEMPLE ON NH7(GAUCHER - JOSHIMATH ROAD)	CHAMOLI	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
72	DEHRADUN CITY(CANAL ROAD,FROM BALASUNDARI TEMPLE TO POLY KID SCHOOL)	DEHRADUN	REGULAR	159	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
73	IN BETWEEN KM STONE 6 TO 8 ON SH 04(LHS,KHATIMA PILIBHIT ROAD)	UDHAM SINGH NAGAR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
74	IN BETWEEN KM STONE 134 TO 136 ON NH 09 (CHAMPAWAT LOHAGHAT ROAD)	CHAMPAWAT	REGULAR	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
75	RUDRAPUR CITY WML ON KICHHA BYPASS ROAD	UDHAM SINGH NAGAR	REGULAR	105	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
76	BETWEEN KMS STONE 59 TO 62 ON NH-707(TIUNI- MAJOG ROAD)	DEHRADUN	REGULAR	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
77	DEHRADUN CITY(FROM CLOCK TOWER TO MUSOORIE DIVERSION ON RAJPUR ROAD,WML)	DEHRADUN	REGULAR	180	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
78	BETWEEN KM STONE 498 AND 505 ON NH 58(OLD), JOSHIMATH TO BADRINATH ROAD	CHAMOLI	REGULAR	150	OPEN CC 1	DC	20	20	400	25	75	Draw of Lots	15	5
79	FROM DHARMAWALA CHOWK TO UK-HP BORDER ON NH 7 (DEHRADUN-PAONTA SAHIB ROAD)	DEHRADUN	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
80	WITHIN 10 KM FROM NAGLA BYPASS CHOWK TOWARD RUDRAPUR ON NH 87(NEW NH 109)	UDHAM SINGH NAGAR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
81	VILLAGE-CHAMI, TEHSIL BARKOT ON NH 134 TO YAMUNOTRI	UTTARKASHI	REGULAR	160	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
82	RUDRAPUR CITY,WITHIN 6 KM FROM INDIRA GANDHI CHOWK TOWARD HALDWANI ON NH 87(OLD NH)	UDHAM SINGH NAGAR	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
83	BETWEEN KM STONE 1 TO 5 ON SH 44 (KICHHA- NAGLA ROAD)	UDHAM SINGH NAGAR	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5

r		1							1 1					
84	IN BETWEEN KM STONE 140 TO 143 ON NH 09 (CHAMPAWAT	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	TANAKPUR DHARCHULA ROAD)													
85	FROM NEPALI FARM TIRAHA TO DOIWALA ON NH-7	DEHRADUN	REGULAR	155	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
	(RHS,HARIDWAR-DEHRADUN ROAD)												-	
86	MUSSOORIE,WML	DEHRADUN	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
87	BAGESHWAR WML	BAGESHWAR	REGULAR	100	OPEN CC 2	DC	20	20	400	25	45	Draw of Lots	15	5
88	DHARCHULA WML	PITHORAGARH	REGULAR	100	OBC CC 1	DC	20	20	400	25	45	Draw of Lots	15	4
89	TANAKPUR WML	CHAMPAWAT	REGULAR	105	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
90	SS PUBLIC SCHOOL,ROORKEE TO NRI COLLEGE ON NH 334 (ROORKEE-GURUKUL NARSEN ROAD)	HARIDWAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
	BETWEEN KM STONE 108 AND 112, ON NH 309 A,					-								
91	BAGESHWAR-PITHORAGARH MARG	BAGESHWAR	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
	BETWEEN KM STONE 452 AND 459 ON NH 58(old nh													
92	no), CHAMOLI TO JOSHIMATH	CHAMOLI	REGULAR	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
93	BETWEEN KM STONE 29 AND 35 ON NH 107	CHAMOLI	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
	(KEDARNATH ROAD)					-								
94	BAGESHWAR NEW BY-PASS ROAD (DIYANGARH - AARE Road)	BAGESHWAR	REGULAR	100	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
	DEHRADUN CITY(FROM BANGALI KOTI CHOWK TO													
95	UDHAMSINGH KAMBOJ PARK ON MOTHROWALA-	DEHRADUN	REGULAR	155	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
	DOIWALA ROAD,WML)													
	FROM KUANWALA TO INDIAN INSTITUTE OF													
96	PETROLEUM MAIN GATE ON NH 7(LHS,HARIDWAR-	DEHRADUN	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
	DEHRADUN ROAD)	-				_		-			_			
	IN BETWEEN KM STONE 148 TO 155 ON SH 10 (PATI													
97	DHUNAGHAT LOHAGHAT ROAD)	CHAMPAWAT	REGULAR	107	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
	IN BETWEEN KM STONE 13 TO 19 ON NH		05011140	455	t	050	25	45	4575				•	2
98	125(SITARGANJ KHATIMA ROAD)	UDHAM SINGH NAGAR	REGULAR	155	ST	CFS	35	45	1575	0	0	Draw of Lots	0	3
99	MUNI KI RETI, WML	TEHRI GARHWAL	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
100	DEHRADUN WML	DEHRADUN	REGULAR	200	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
										-			-	
101	DEHRADUN CITY(GURU TEG BAHADUR MARG,CHILIZ	DEHRADUN	REGULAR	250	OPEN CC 1	DC	20	20	400	25	60	Draw of Lots	15	5
	RESTAURANT TO RING ROAD INTERSECTION)	-				_		-						-
	ON PROPOSED KASHIPUR BYPASS(LHS,RUDRAPUR													
102	KASHIPUR ROAD)	UDHAM SINGH NAGAR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
-	BETWEEN KM STONE 19 AND 23 ON SH-10(RANIBAGH													
103	BHIMTAL ROAD)	NAINITAL	REGULAR	100	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
<u> </u>	WITHIN 5KM FROM STATE BANK CHAURAHA											+		
104	(BAGESHWAR TOWN) TOWARDS TAKULA ON NH 309	BAGESHWAR	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
104	A		NEGOLAN	130	UFLIN		20	20	400	20	15		13	J
<u> </u>						+			┨			+		
105	PHERUPUR TO SULTANPUR ON NH 334A(OLD SH-	HARIDWAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
100	25)(HARIDWAR-LAKSAR ROAD)			120	000	DC	20	20	400	25	45	Draw of Let-	15	4
106	BAJPUR WML	UDHAM SINGH NAGAR	REGULAR	120	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
107	JASPUR WML	UDHAM SINGH NAGAR	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
4.00	BETWEEN KM STONE 8 TO 12 ON NH-507(NEW NH		DE 01	455	0.5.5.1				100				4-	_
108	NO.)(NH-123,OLD NH NO.) ON VIKASNAGAR-KALSI-	DEHRADUN	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
<u> </u>	BARKOT ROAD.													
109	BETWEEN KM STONE 25 TO 30 ON SH-1 (DEHRADUN-	DEHRADUN	REGULAR	100	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
	MUSOORIE ROAD)									_0				-
	WITHIN 5 KMS FROM NARIMAN CHOWK TOWARDS													
110	GAULAPAR ON HALDWANI BYEPASS ROAD (NEW NH	NAINITAL	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
	109)													

111	CHAMPAWAT WML	CHAMPAWAT	REGULAR	120	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
112	HARIDWAR WML ON NH	HARIDWAR	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
113	BETWEEN KM STONE 8 AND 13 , ON SH 14, RANIKHET MARG	NAINITAL	REGULAR	115	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
114	BETWEEN KM STONE 242 TO 253 ON NH-58(OLD NH NO.),NEW NH NO.7,RISHIKESH-DEVPRAYAG- SRINAGAR ROAD.	TEHRI GARHWAL	REGULAR	150	OBC PH	DC	20	20	400	25	75	Draw of Lots	15	4
115	CHAMPAWAT WML ON NH125(OLD NH)	CHAMPAWAT	REGULAR	150	SC PH	CFS	20	20	400	0	0	Draw of Lots	0	3
116	DEHRADUN CITY(GMS ROAD,BALLIWALA CHOWK TO SHIMLA BYPASS CHOWK)	DEHRADUN	REGULAR	350	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
117	DHARASU BAND TO DUNDA ON NH-34 (GANGOTRI- UTTARKASHI-DHARASU MARG)	UTTARKASHI	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
118	NAINITAL WML	NAINITAL	REGULAR	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
119	HALDWANI CITY(FROM NAWABI ROAD CHAURAHA TO MAHILA DEGREE COLLEGE, ON NAWABI ROAD)	NAINITAL	REGULAR	110	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
120	KHATIMA WML	UDHAM SINGH NAGAR	REGULAR	130	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
121	BETWEEN KM STONE 259 TO UK-UP BORDER ON NH 74 (OLD NH)(NEW NH 30)(SITARGANJ-PILIBHIT ROAD)	UDHAM SINGH NAGAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
122	IN BETWEEN KM STONE 255 TO 259 ON NH 74(OLD NH) (SITARGANJ-PILIBHIT ROAD)	UDHAM SINGH NAGAR	REGULAR	180	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
123	IN BETWEEN KM STONE 53 TO 43 ON NH 309(OLD NH 74)(KASHIPUR TO RUDRAPUR ROAD)	UDHAM SINGH NAGAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
124	RUDRAPUR CITY (ON BURARANI TO CHATTARPUR ROAD , WML)	UDHAM SINGH NAGAR	REGULAR	110	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
125	BETWEEN KM STONE 18 TO 23 ON SH-20 (KALSI- CHAKRATA ROAD)	DEHRADUN	REGULAR	105	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
126	FROM COLLEGE OF ENGINEERING ROORKEE TO ROORKEE PUBLIC SCHOOL ON NH 334 (HARIDWAR- ROORKEE ROAD)	HARIDWAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
127	WITHIN 8KMS FROM MAGNUM FOREST RESIDENTIAL APARTMENTS(GOLF GROUND,RANIKHET) ON NH 109	ALMORA	REGULAR	150	OPEN CC 1	DC	20	20	400	25	75	Draw of Lots	15	5
128	ROORKEE CITY(RAILWAY STATION ROAD,AZADNAGAR CHOWK TO BT GANJ)	HARIDWAR	REGULAR	100	ОВС	DC	20	20	400	25	45	Draw of Lots	15	4
129		PITHORAGARH	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
130	DEHRADUN CITY (SHAHEED KASHMIR SINGH MARG,BALLUPUR CHOWK TO RIMC GATE)	DEHRADUN	REGULAR	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
131	FROM COER TO KHATKA AHMATMAL,LHS, ON NEW PROPOSED ROORKEE BYPASS (HARIDWAR- MANGLAUR ROAD)	HARIDWAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
132	FROM JYOLIKOT BUS STAND TO NAINITAL BUS STAND ON NH 109(HALDWANI-JEOLIKOT-NAINITAL MARG)	NAINITAL	REGULAR	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
133	WITHIN 5KM FROM KHAIRNA-RANIKHET BRIDGE TOWARDS HALDWANI ON NH-109	NAINITAL	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
134	HALDWANI CITY(ON TRANSPORT NAGAR ROAD)	NAINITAL	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
135	DHARASU BAND TO NAWAGAON ON NH-134 (DHARASU-BARKOT-YAMUNOTRI MARG)	UTTARKASHI	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5

136	BETWEEN KM STONE 425 AND 427, ON NH 58(old nh no) , FROM MAITHANA TO CHAMOLI ON LHS	CHAMOLI	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
137	GADARPUR WML	UDHAM SINGH NAGAR	REGULAR	100	OBC CC 1	DC	20	20	400	25	45	Draw of Lots	15	4
138	ON PROPOSED KASHIPUR BYPASS (RHS,RUDRAPUR KASHIPUR ROAD)	UDHAM SINGH NAGAR	REGULAR	150	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
139	WITHIN 12 KMS FROM COLLEGE OF ENGINEERING ROORKEE ON NEW ROORKEE BYPASS(RHS,HARIDWAR- MANGLAUR ROAD)	HARIDWAR	REGULAR	150	OPEN PH	DC	35	45	1575	25	75	Draw of Lots	15	5
140	WITHIN 5KM FROM KHAIRNA-RANIKHET BRIDGE TOWARDS ALMORA ON NH 109	NAINITAL	REGULAR	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
141	VILLAGE CHAMIYALA TO GHANSALI ON SH-15 (UTTARKASHI-GHANSALI-TILWADA ROAD)	TEHRI GARHWAL	REGULAR	100	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
142	SHIWALIK NAGAR, WML	HARIDWAR	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
143	IN BETWEEN KM STONE 120 TO 125 ON NH 09(TANAKPUR LOHAGHAT ROAD)	CHAMPAWAT	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
144	DEHRADUN CITY(FROM ISBT FLYOVER TOWARDS CLEMENT TOWN ON NH-307,WML)	DEHRADUN	REGULAR	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
145	HALDWANI CITY(LHS, WITHIN 2KM FROM DAMUA- DHUNGA PANCHAKKI CHAURAHA ON PANCHAKKI ROAD)	NAINITAL	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
146	IN BETWEEN KM STONE 201 TO 203 ON NH 74(NEW NH 309)(LHS,RUDRAPUR TO KASHIPUR ROAD)	UDHAM SINGH NAGAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
147	FROM NEPALI FARM TIRAHA TO NATRAJ CHOWK (RISHIKESH), ON NH 34,HARIDWAR-RISHIKESH ROAD.	DEHRADUN	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
148	BETWEEN KM STONE 93 AND 98 NH 121(OLD NH NO) KARNAPRAYAG-HARIDWAR ROAD	PAURI GARHWAL	REGULAR	165	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
149	FROM KM STONE 82 TO 86 ON NH-123(OLD NH)(NEW NH-507)VIKASNAGAR-KALSI-BARKOT ROAD	UTTARKASHI	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
150	BETWEEN KM STONE 176 TO 186 ON NH-58(OLD NH NO.)(LHS,HARIDWAR-ROORKEE ROAD)	HARIDWAR	REGULAR	150	OPEN CC 1	DC	35	45	1575	25	75	Draw of Lots	15	5
151	ON PROPOSED GADARPUR BYPASS ROAD(RHS,RUDRAPUR KASHIPUR ROAD)	UDHAM SINGH NAGAR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
152	ALMORA WML	ALMORA	REGULAR	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
153	BETWEEN KM STONE 399 AND 401, ON NH 58(old nh no), FROM KARNAPRAYAG TO BADRINATH	CHAMOLI	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
154	FROM SUDHOWALA TO SAHASPUR ON CHAKRATA ROAD (OLD NH-72)	DEHRADUN	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
155	KOTDWAR, FROM POLICE CHECK POST TO SHRI SIDHBALI DHAM MANDIR, ON NH 534	PAURI GARHWAL	REGULAR	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
156	WITHIN 5 KMS OF HERBERTPUR CHOWK ON NH- 507(NEW NH NO.) (HERBERTPUR-BARKOT ROAD)	DEHRADUN	REGULAR	210	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
157	BETWEEN KM STONE 176 TO 183 ON NH-707A (MUSSOORIE-DHANAULTI ROAD)	DEHRADUN	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
158	DEHRADUN CITY(EASTERN CANAL ROAD (EC ROAD),ARAGHAR CHOWK TO BHEL CHOWK,WML)	DEHRADUN	REGULAR	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5

F	BETWEEN KM STONE 470 AND 476, ON NH 58 (old nh											1		
159	no) , JOSHIMATH BADRINATH ROAD	CHAMOLI	REGULAR	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
160	HERBETPUR WML	DEHRADUN	REGULAR	100	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
161	FROM UTTAM SUGAR MILL TO UK-UP BORDER ON NH- 334 (RHS,HARIDWAR-DELHI ROAD)	HARIDWAR	REGULAR	160	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
162	BETWEEN KM STONE 25 AND 32 ON SH 05,RUDRAPUR-HALDWANI ROAD	NAINITAL	REGULAR	100	OPEN	DC	35	35	1225	25	60	Draw of Lots	15	5
163	CHANDI PUL TO SHYAMPUR VILLAGE ON NH 34(NEW NH NO.)(NAJIBABAD-HARIDWAR ROAD)	HARIDWAR	REGULAR	150	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
164	BETWEEN KM STONE 66 AND 64,ON NH 109 ON BHOWALI ALMORA ROAD	ALMORA	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
165	BETWEEN KM STONE 94 AND 98 ON NH 87(OLD NH)(KATHGODAM-NAINITAL ROAD)	NAINITAL	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
166	HALDWANI-CUM-KATHGODAM WML	NAINITAL	REGULAR	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
167	BETWEEN KM STONE 48 TO 51, ON SH 41,(LHS,HALDWANI TO KALADHUNGI)	NAINITAL	REGULAR	100	OPEN	СС	35	35	1225	25	10	Bidding	30	5
168	HALDWANI CITY(FROM CENTRAL HOSPITAL TO BIRLA CHAURAHA ON GAS GODAM ROAD)	NAINITAL	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
169	GOPESHWAR WML	CHAMOLI	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
170	BETWEEN KM STONE 10 TO 13 0N OLD SH-25 (NEW NH NO.334A)(LAKSAR-PURQUAZI ROAD)	HARIDWAR	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
171	ON PROPOSED GADARPUR BYPASS ROAD(LHS,RUDRAPUR KASHIPUR ROAD)	UDHAM SINGH NAGAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
172	DEHRADUN CITY(MASTER RAMSWAROOP MARG,FROM BANNU SCHOOL TO REST CAMP)	DEHRADUN	REGULAR	160	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
173	IN BETWEEN KM STONE 1 TO 7 ON NH 125(SITARGANJ-KHATIMA ROAD)	UDHAM SINGH NAGAR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
174	JOSHIMATH WML	CHAMOLI	REGULAR	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
175	IN BETWEEN KM STONE 105 TO 114 ON SH 03 (BERINAG THAL ROAD)	PITHORAGARH	REGULAR	100	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
176	KICHHA WML	UDHAM SINGH NAGAR	REGULAR	100	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
177	DEHRADUN CITY(TUNWALA ROAD,MAHARANA PRATAP CHOWK TO MIYAN WALA CHOWK,WML)	DEHRADUN	REGULAR	150	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
178	IN BETWEEN KM STONE 185 TO 195 ON NH 09(NEW NH)(LOHAGHAT PITHORAGARH ROAD)	PITHORAGARH	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
179	IN BETWEEN KM STONE 168 TO 179 ON SH 11(MUNSHIYARI THAL ROAD)	PITHORAGARH	REGULAR	100	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
180	BETWEEN KM STONE 180 TO 186 ON NH-58(OLD NH NO.)(RHS,HARIDWAR-ROORKEE ROAD)	HARIDWAR	REGULAR	175	OPEN	CC	35	45	1575	25	10	Bidding	30	5
181	BETWEEN KM STONE NO 40 TO 48 ON SH 10 (RANIBAGH - BHIMTAL ROAD)	NAINITAL	REGULAR	100	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
182	BETWEEN SONPRAYAG AND PHATA, ON NH-107, KEDARNATH-RUDRAPRAYAG ROAD	RUDRAPRAYAG	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
183	PITHORAGARH WML ON NH 09(NEW NH)	PITHORAGARH	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
184	KASHIPUR WML	UDHAM SINGH NAGAR	REGULAR	135	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
185	SRINAGAR WML	PAURI GARHWAL	REGULAR	110	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
186	ON NH 74(NEW NH 309) BETWEEN KM STONE 182 TO 180 (LHS,RUDRAPUR TO KASHIPUR ROAD)	UDHAM SINGH NAGAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5

1						1			1 1		1			1
187	IN BETWEEN KM STONE 243 TO 253 ON NH 74 (NEW NH 09)(RHS, KICHHA TO SITARGANJ ROAD)	UDHAM SINGH NAGAR	REGULAR	150	SC CC 1	CFS	35	45	1575	0	0	Draw of Lots	0	3
188	RAMNAGAR WML	NAINITAL	REGULAR	100	OPEN CC 2	DC	20	20	400	25	45	Draw of Lots	15	5
189	WITHIN 3KM FROM LALKUAN RAILWAY STATION TOWARDS PANT-NAGAR ON NH 109(NAINITAL BAREILLY ROAD)	NAINITAL	REGULAR	150	OBC CC 1	DC	35	45	1575	25	75	Draw of Lots	15	4
190	DOIWALA WML	DEHRADUN	REGULAR	115	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
191	FROM INTERSECTION OF NH-107 AND KUND- UKHIMATH MARG TO PANCH KEDAR FS (BPC RO, AUGUSTMUNI) ON NH-107	RUDRAPRAYAG	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
192	ON SH 13 IN BETWEEN KM STONE 56-59 (LHS,BAZPUR TO HALDWANI ROAD)	UDHAM SINGH NAGAR	REGULAR	105	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
193	BETWEEN KM STONE 30 AND 38,ON SH-38,RAMGARH TO MUKTESHWAR ROAD	NAINITAL	REGULAR	100	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
194	HARIDWAR WML	HARIDWAR	REGULAR	180	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
195	FROM HOTEL REGENTA TO NEPALI FARM TIRAHA ON NH 34 (HARIDWAR-RISHIKESH ROAD)	DEHRADUN	REGULAR	165	OBC	DC	35	45	1575	25	75	Draw of Lots	15	4
196	BETWEEN KM STONE 157 TO 162 ON NH-707 (TIUNI- MAJOG ROAD)	DEHRADUN	REGULAR	150	ST	CFS	20	20	400	0	0	Draw of Lots	0	3
197	DEHRADUN CITY(LAL PUL CHOWK TO KARGI CHOWK VIA MAHANT INDIRESH HOSPITAL)	DEHRADUN	REGULAR	250	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
198	DEHRADUN CITY(NEHRUGRAM ROAD,DOBHAL CHOWK TO RING ROAD INTERSECTION)	DEHRADUN	REGULAR	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
199	DEHRADUN CITY (FROM MUSSOORIE DIVERSION CHOWK TOWARDS MAX HOSPITAL,WML)	DEHRADUN	REGULAR	150	OBC	СС	20	20	400	25	10	Bidding	30	4
200	DIDIHAT WML	PITHORAGARH	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
201	DEHRADUN CITY(SAHASTRADHARA ROAD,WITHIN 3 KMS FROM KIRSALI CHOWK)	DEHRADUN	REGULAR	165	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
202	ROORKEE CITY(ROORKEE-MANGLAUR ROAD,WITHIN 4 KMS OF MILITARY HOSPITAL MAIN GATE,WML)	HARIDWAR	REGULAR	120	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
203	UTTARKASHI,WML	UTTARKASHI	REGULAR	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
204	RUDRAPUR WML	UDHAM SINGH NAGAR	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
205	FROM RISPANA BRIDGE TO JOGIWALA ON NH- 7(LHS,HARIDWAR-DEHRADUN ROAD)	DEHRADUN	REGULAR	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
206	RUDRAPUR CITY,WITHIN 4 KM FROM INDIRA GANDHI CHOWK TOWARDS RAMPUR ON NH 74(OLD NH)	UDHAM SINGH NAGAR	REGULAR	170	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
207	BETWEEN KM STONE 17 TO 25 ON SH-28 (PUHANA- JHABRERA-GURUKUL NARSAN ROAD)	HARIDWAR	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
208	BETWEEN KM STONE 15 AND 18, ON NH 121(OLD NH)(RHS,RAMNAGAR KASHIPUR ROAD)	NAINITAL	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
209	FROM HERBERTPUR TO SAHASPUR ON NH-72(OLD NH NO.),(CHAKRATA ROAD)	DEHRADUN	REGULAR	170	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
210	FROM NEPALI FARM TIRAHA TO DOIWALA ON NH 7 (LHS,HARIDWAR-DEHRADUN ROAD)	DEHRADUN	REGULAR	200	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
211	HARIDWAR CITY(WITHIN 2 KMS OF ARYANAGAR CHOWK)	HARIDWAR	REGULAR	115	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
212	HALDWANI CITY(WITHIN 1 KM FROM CHAFULA CHAURAHA ON KATHGODAM-KATGHARIYA ROAD)	NAINITAL	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5

213	MANGLAUR,WML	HARIDWAR	REGULAR	100	ST PH	CFS	20	20	400	0	0	Draw of Lots	0	3
214	BETWEEN KM STONE NO. 100 TO 105 ON NH 109,ALMORA-RANIKHET-KOSI MARG	ALMORA	REGULAR	150	OBC PH	DC	20	20	400	25	75	Draw of Lots	15	4
215	IN BETWEEN KM STONE 212 TO 206 ON NH 74(NEW NH 309)(RHS , RUDRAPUR- KASHIPUR ROAD)	UDHAM SINGH NAGAR	REGULAR	150	OPEN	сс	35	45	1575	25	10	Bidding	30	5
216	HALDWANI CITY(BETWEEN SUSHEELA TIWARI HOSPITAL AND G MALL ON ITI DHANMILL ROAD)	NAINITAL	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
217	IN BETWEEEN KM STONE 20 TO 25 ON NH 125(NEW NH 09) (LHS,SITARGANJ TO KHATIMA ROAD)	UDHAM SINGH NAGAR	REGULAR	150	OBC	сс	35	45	1575	25	10	Bidding	30	4
218	FROM RUDRAPRAYAG RAILWAY STATION TO KM STONE 20 ON NH 107(KEDARNATH ROAD)	CHAMOLI	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
219	ROORKEE WML	HARIDWAR	REGULAR	200	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
220	IN BETWEEN KM STONE 238 TO 240 ON NH74(LHS,KICHHA TO SITARGANJ ROAD)	UDHAM SINGH NAGAR	REGULAR	180	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
221	BETWEEN KM STONE 284 TO 294 ON NH-58(OLD NH NO.),NEW NH NO.7,RISHIKESH-DEVPRAYAG- SRINAGAR ROAD	TEHRI GARHWAL	REGULAR	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
222	BETWEEN KM STONE 38 AND 44 ON NH 121(OLD NH),RAMNAGAR-RANIKHET ROAD	NAINITAL	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
223	NEW TEHRI WML	TEHRI GARHWAL	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
224	FROM RISPANA BRIDGE TO JOGIWALA ON NH- 7(RHS,HARIDWAR-DEHRADUN ROAD)	DEHRADUN	REGULAR	150	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
225	DEHRADUN CITY(FROM RISPANA BRIDGE TO ISBT FLYOVER CHOWK ON HARIDWAR BYPASS ROAD,NH-7)	DEHRADUN	REGULAR	155	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
226	FROM MILESTONE 374 TO 376 , ON NH 58 (old nh no),RUDRAPRAYAG TO KARNAPRAYAG	RUDRAPRAYAG	REGULAR	190	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
227	CHAMBA,WML	TEHRI GARHWAL	REGULAR	100	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
228	BHOWALI WML	NAINITAL	REGULAR	100	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
229	FROM BARKOT TO KUTHNAUR ON NH 134(BARKOT- YAMUNOTRI ROAD)	UTTARKASHI	REGULAR	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
230	BETWEEN KM STONE NO 46 TO 48 ON NH- 109(BHOWALI-ALMORA ROAD)	NAINITAL	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
231	PATHISAIN TO SATPULI, ON NH-534, PAURI- KOTDWAR ROAD	PAURI GARHWAL	REGULAR	150	SC	CFS	20	20	400	0	0	Draw of Lots	0	3
232	DEHRADUN CITY(SAHARANPUR ROAD,WITHIN 3 KMS FROM SAHARANPUR CHOWK TOWARDS ISBT)	DEHRADUN	REGULAR	300	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
233	RUDRAPRAYAG WML	RUDRAPRAYAG	REGULAR	100	OBC	DC	20	20	400	25	45	Draw of Lots	15	4
234	FROM KURADEE TO UK-UP BORDER ON NH 334 (LHS, HARIDWAR-DELHI ROAD)	HARIDWAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
235	IN BETWEEN KM STONE 27 TO 29 ON NH 125(OLD NH)(LHS,KHATIMA TANAKPUR ROAD)	UDHAM SINGH NAGAR	REGULAR	165	OPEN	CC	35	45	1575	25	10	Bidding	30	5
	VIKASNAGAR WML	DEHRADUN	REGULAR	100	SC CC 1	CFS	20	20	400	0	0	Draw of Lots	0	3
237	SITARGANJ WML	UDHAM SINGH NAGAR	REGULAR	115	OBC CC 1	DC	20	20	400	25	45	Draw of Lots	15	4
238	FROM SHYAMPUR TO CHIDIYAPUR (UK-UP BORDER)ON NH-34,NAJIBABAD-HARIDWAR ROAD	HARIDWAR	REGULAR	153	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
239	SALEMPUR TO ABDIPUR ON NH 334A(OLD SH- 25)(HARIDWAR-LAKSAR ROAD)	HARIDWAR	REGULAR	150	OPEN PH	DC	35	45	1575	25	75	Draw of Lots	15	5

240	WITHIN 5KM FROM ADITYA CHOWK ON NH74 TOWARDS BAREILLY(KICHHA SITARGANJ ROAD)	UDHAM SINGH NAGAR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
241	BETWEEN KM STONE 65 AND 75 ON SH-41 (KALADHUNGI ROAD)	NAINITAL	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
242	IN BETWEEN KM STONE 34 TO 36 ON NH 125 (LHS,KHATIMA TO TANAKPUR ROAD)	UDHAM SINGH NAGAR	REGULAR	165	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
243	BETWEEN KM STONE 31 TO 27 ON SH 13(KALADHUNGI-BAZPUR ROAD)	NAINITAL	REGULAR	100	OBC	DC	35	35	1225	25	60	Draw of Lots	15	4
244	FROM PUHANA TO BHAGWANPUR ON NH 334 (CHUTMALPUR-ROORKEE ROAD)	HARIDWAR	REGULAR	170	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
245	DEHRADUN CITY(SAHASTRADHARA ROAD,WITHIN 5 KMS FROM SAHASTRADHARA CROSSING)	DEHRADUN	REGULAR	155	OPEN	DC	20	20	400	25	60	Draw of Lots	15	5
246	IN BETWEEN KM STONE 7 TO 10 ON NH 121(KASHIPUR-RAMNAGAR ROAD)	UDHAM SINGH NAGAR	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
247	BETWEEN KM STONE 13 AND 15 ON NH 87(NEW NH 109) ON LHS, BAREILLY-NAINITAL ROAD	NAINITAL	REGULAR	150	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
248	BETWEEN KM STONE 257 TO 270 ON NH-58(OLD NH NO.),NEW NH NO.7,RISHIKESH-DEVPRAYAG- SRINAGAR ROAD	TEHRI GARHWAL	REGULAR	150	OBC	DC	20	20	400	25	75	Draw of Lots	15	4
249	FROM VILLAGE PUHANA TO AZAD NAGAR CHOWK ON NH- 344 (BHAGWANPUR-ROORKEE ROAD)	HARIDWAR	REGULAR	155	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
250	IN BETWEEN KM STONE 213 TO 221 ON NH 74 (LHS,RUDRAPUR-KICHHA ROAD)	UDHAM SINGH NAGAR	REGULAR	160	OPEN	DC	35	45	1575	25	75	Draw of Lots	15	5
251	LAKSAR WML	HARIDWAR	REGULAR	100	OPEN CC 1	DC	20	20	400	25	45	Draw of Lots	15	5
252	BETWEEN KM STONE 54 TO 56 ON NH 109 (BHOWALI - ALMORA ROAD)	NAINITAL	REGULAR	150	OBC	СС	20	20	400	25	10	Bidding	30	4
253	FROM MANDAWAR TO BHAGWANPUR ON NH-344 (CHUTMALPUR-BHAGWANPUR-ROORKEE ROAD)	HARIDWAR	REGULAR	150	SC	CFS	35	45	1575	0	0	Draw of Lots	0	3
254	RISHIKESH WML	DEHRADUN	REGULAR	100	OPEN	DC	20	20	400	25	45	Draw of Lots	15	5
255	DEHRADUN CITY (RING ROAD,FROM JOGIWALA TO LADPUR)	DEHRADUN	REGULAR	158	OBC	DC	20	20	400	25	60	Draw of Lots	15	4
256	BARKOT WML (ON NH)	UTTARKASHI	REGULAR	150	OPEN	DC	20	20	400	25	75	Draw of Lots	15	5
257	IN BETWEEN KM STONE 188 TO 182 ON NH 74 (NEW NH 309)(RUDRAPUR- KASHIPUR ROAD)	UDHAM SINGH NAGAR	REGULAR	150	OPEN	СС	35	45	1575	25	10	Bidding	30	5
	IN BETWEEN KM STONE 188 TO 182 ON NH 74 (NEW					-					-			

Volumes indicated are based on market conditions and may undergo change. Applicants are advised to make their own assessment of potential.

* The site should either be Owned or on lease with applicant for minimum 19 Years 11 Months or Applicant should have firm offer for the same.

The explanation of the columns in the table is given in the Brochure which also contains detailed guidelines of selection procedure for dealership along with Application form and other relevant details. The Brochure is available at a cost of Rs. 100/- from the Corporation Offices at the addresses mentioned below. It is also hosted in the Corporation Website (www.bharatpetroleum.in/www.hindustanpetroleum.com/www.petrolpumpdealerchayan.in) and can be downloaded free of cost.

APPLICANTS, IN THEIR OWN INTEREST, SHOULD CAREFULLY GO THROUGH THE "BROCHURE" AND UNDERSTAND CONDITIONS OF SELECTION BEFORE SUBMITTING THEIR APPLICATION.

Application for RO dealership along with online payment of Non-refundable application fee, as applicable (detailed below), should be submitted on-line by 24/12/2018.

Type of RO	Type of Site	Category	Application fee in Rs.	Type of RO	Type of Site	Category	Applicati on fee in Rs.
	CFS	SC/ST	3000		CFS	SC/ST	2500
	CC	OBC	5000		CC	OBC	4000
Regular ROs	CC	OPEN	10000	Rural ROs	CC	OPEN	8000
	DC	OBC	5000		DC	OBC	4000
	DC	OPEN	10000		DC	OPEN	8000

The facility for submission of on-line application will be withdrawn immediately after the cut-off date as mentioned above. The tenure of the dealership shall be for an initial period of 15 years and renewable every 5 years thereafter.

This is only a notice inviting application for allotment of RO dealership and not an offer of RO dealership.

The Corporation reserves the right to cancel/withdraw/ amend this advertisement or extend the due date at its sole discretion without assigning any reason.

In case of any discrepancy in advertisement published in English News papers vis a vis vernacular dailies, the direction/information indicated in English paper would prevail. Similarly, contents of Brochure in English will be final and will prevail upon in case of any dispute.

For purchase of Brochure and any information with regard to the advertisement, candidates may contact the following address:-

State Name	TERRITORY NAME	District Covered	ADDRESS	CONTACT NO.
UTTARAKHAND	Dehradun	ALL DISTRICTS	T M Retail Dehradun, Ground Floor,UCF Sadan, Vishnu Vihar, Deep Nagar Road, Dehradun, Uttarakhand - 248001	0135-2665310